
 

 

SERIE 1 SUR LES EQUATIONS 

Exercice 1 

x est un nombre rationnel  

Résoudre les équations suivantes : 

𝟓𝒙 + 𝟐 = 𝟑(𝟕 − 𝟖𝒙) − 𝟔(𝒙 + 𝟒) 

𝟕𝒙 − (𝒙 + 𝟐) = −𝟑(𝟐𝒙 − 𝟒) − (𝒙 − 𝟏𝟏) 

−𝟏𝟏𝒙 − 𝟒(𝟒𝒙 − 𝟗) = 𝟐(𝟑𝟑 − 𝟐𝒙) − 𝟓 

𝟒(𝟑 − 𝟔𝒙) − 𝟔(𝒙 + 𝟒)𝒙 + 𝟏𝟏 = 𝟓 − 𝟑(𝟏𝟕 − 𝟓𝒙) − 𝟔𝒙(𝒙 − 𝟓) 

Exercice 2   

x est un nombre rationnel  

Résoudre les équations suivantes : 

𝟓𝒙 + 𝟐

𝟑
=
𝟑(𝟕 − 𝟖𝒙)

𝟒
−
𝟔(𝒙 + 𝟒)

𝟏𝟐
 

𝒙 + 𝟐 =
𝟑(𝟕 − 𝟖𝒙)

𝟒
−
𝟔(𝒙 + 𝟒)

𝟓
 

𝟕𝒙

𝟒
−
𝟑(𝒙 + 𝟐)

𝟔
=
𝟑(𝟐𝒙 + 𝟏)

𝟐
− (𝒙 − 𝟏𝟏) 

𝟒(𝟑 − 𝟔𝒙)

𝟐
−
𝟔(𝒙 + 𝟒)𝒙

𝟓
+
𝟏𝟏

𝟒
=
𝟓

𝟐
−
𝟑(𝟏𝟕 − 𝟓𝒙)

𝟒
−
𝟔𝒙(𝒙 − 𝟓)

𝟓
 

 


